


Fig. 3). 

3. The authors observe Eco7 retron resistance upon expression of either phage tRNA-Tyr or host tRNA-Tyr from a plasmid
using the phage promoter, suggesting that restoring tRNA levels restores infection. The authors claim that expression of the
same tRNAs from a plasmid with the host tRNA promoter has a weak effect. However to my eye the difference is quite
modest, my conclusion would be that expression of the tRNA from either promoter provides substantial retron resistance. Are
the tRNAs being overexpressed regardless, since they are encoded on plasmids? If conclusions are drawn about tRNA
levels and retron resistance, then tRNA levels should be measured under these different rescue conditions. 

4. PrrC tests – If I understand correctly, the authors observe resistance to the tRNA-cleaving PrrC system (which protects
against T1 and T7 infection) upon expression of a tRNA-Lys from an unrelated phage (SP15). This seems very artificial, and
does not provide evidence of a phage that encodes a tRNA to overcome the PrrC system. 
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